

0) NOTE CORRECTION $W_5 = \sum_{i \leq 5} I_{H_i=5}$ (not 6!)

a) BY THEOREM 2.4.6 THIS ~~IS~~, $P(X_1=1|X_2=3)$
 THE PROBABILITY THAT FOR 3 iid $U[0,2]$ ^{i.i.d.} $U[0,2]$ ~~is~~ 1
 IS IN $[0,1]$. THAT IS $P(Bin(3, 1/2)=1) = \binom{3}{1} (1/2)^2 (1/2) = 3/8$
 THE ANSWER FOR $P(X_1=1|X_2=3)$ IS EXACTLY THE SAME, $3/8$,
 SINCE THE POISSON PROCESS ~~ARE~~ IS NOT RELEVANT BUT 2.4.6.

b) $(Y_t)_{t \geq 0}$ AND $(X_t - Y_t)_{t \geq 0}$ ARE INDEPENDENT POISSON PROCESSES

$$1 (= 2 \times 1/2)$$

$$\text{SO } P(X_t = 2Y_t) = P(X_t - Y_t = Y_t)$$

$$= \sum_{r=0}^{\infty} P(X_t - Y_t = r) P(Y_t = r) \text{ BY INDEPENDENCE}$$

BUT $Y_t, X_t - Y_t$ ARE POISSON R.V.s SO THIS IS

$$\sum_{r=0}^{\infty} \left(e^{-t} \frac{t^r}{r!} \right)^2 = e^{-2t} \sum_{r=0}^{\infty} \frac{t^{2r}}{r! r!}$$

FOR THE SECOND PART. $P(X_t = 2Y_t | X_t \text{ is even})$ IS SIMILAR

$$P(X_t = 2Y_t) \text{ AS } \{X_t = 2Y_t\} \subseteq \{X_t \text{ is even}\}$$

$$\overline{P(X_t \text{ is odd})}$$

SO IT REMAINS TO ~~SHOW~~ CALCULATE $P(X_t \text{ is even})$

$$= \sum_{r=0}^{\infty} P(X_t = 2r) = e^{-2t} \sum_{r=0}^{\infty} \frac{(2t)^r}{r!}$$

$$= e^{-2t} \left(e^{2t} + e^{-2t} \right)$$

$$= \frac{1 + e^{-4t}}{2} \quad (\text{NOTE THIS ALIGNS W.I.M. KNOWN BEHAVIOUR AS } t=0 \text{ AND } t \rightarrow \infty)$$

$$\text{So } P(X_t = 2Y_t | X_t \text{ is even}) = \frac{e^{-2t} \sum_{r=0}^{\infty} \frac{t^{2r}}{r! r!}}{\frac{1 + e^{-4t}}{2}} \\ = \frac{\sum_{r=0}^{\infty} \frac{t^{2r}}{r! r!}}{\cosh(2t)}$$

Finally by symmetry (As $X_t - Y_t \stackrel{D}{=} Y_t$ and is independent of t)

$$P(X_t > 2Y_t | X_t \text{ is even}) \\ = \frac{1}{2} P(X_t \neq 2Y_t | X_t \text{ is even}) = \frac{1}{2} \left(1 - \frac{\sum_{r=0}^{\infty} \frac{t^{2r}}{r! r!}}{\cosh(2t)} \right)$$

c). THIS FIRST PART REASON. THEREFORE THAT JUMP TIMES FOR Z ARE DERIVED FROM JUMP TIMES FOR Y WITH PROBABILITY $1/3$.

$$\text{THUS } P(Z_1 = 1 | Y_2 = 5) = \sum_{k=0}^5 P(Z_1 = 1 | Y_2 = 5, Y_1 = k) P(Y_1 = k | Y_2 = 5) \\ = \sum_{k=0}^5 P(Z_1 = 1 | Y_1 = k) \binom{5}{k} \left(\frac{1}{2}\right)^5 \\ = \sum_{k=1}^5 \left(\frac{5}{1}\right) \left(\frac{1}{3}\right) \left(\frac{2}{3}\right)^{k-1} \binom{5}{k} \left(\frac{1}{2}\right)^5$$

AS ONLY Y_1 IS RELEVANT TO Z_1 AND IF $Y_1 = 0$ Z_1 CANNOT BE 1.

$P(W_1 = 1 | Y_2 = 5)$ IS $P(W_1 = 1)$ AS (WITH CURRENT DEFINITION OF W) W, Y ARE INDEPENDENT.

$P(W_1 = 1 | Y_2 = 5)$ IS THEREFORE $e^{-1/3} (1/3)$.

1) THE SEMI GROUP $(P(t))_{t \geq 0}$ SATISFIES

BACKWARD EQUATION: $P(0) = I_d$ $P'(t) = Q P(t)$

$$\text{SO } P'_{12}(t) = -2P_{12}(t) + P_{22}(t) + P_{32}(t) \quad P_{12}(0) = 0.$$

FORWARD EQUATION $P(0) = I_d$ $P'(t) = P(t)Q$

$$\text{SO } P'_{12}(t) = -P_{12}(t) + P_{11}(t) + P_{13}(t) \quad P_{12}(0) = 0$$

$$P_{12}(t) = \sum_{r=0}^{\infty} \frac{t^r}{r!} (Q^r)_{12}.$$

$$2) \quad Q = \begin{pmatrix} -2 & 1 & 1 \\ 0 & -1 & 1 \\ 0 & 0 & 0 \end{pmatrix}$$

$$\text{SO } 0 \xrightarrow{1} 1 \quad 0 \xrightarrow{1} 2 \quad 1 \xrightarrow{1} 2$$

BY FORWARD EQUATION

$$P'_{01}(t) = P_{00}(t) - P_{01}(t) \quad \text{but } P_{00}(t) = e^{-2t}$$

$$\text{SO } P'_{01}(t) = e^{-2t} - P_{01}(t)$$

$$P'_{01}(t) + P_{01}(t) = e^{-2t}.$$

$$e^t P'_{01}(t) + e^t P_{01}(t) = e^{-t}.$$

$$\text{SO } (e^t P_{01}(t))' = -e^{-t} \quad \text{As } P_{01}(0) = 0$$

$$= 1 - e^{-t}.$$

$$\text{SO } P_{01}(t) = e^{-t} - e^{-2t}.$$

$$\text{SO } P_{02}(t) = 1 - P_{00}(t) - P_{01}(t)$$

$$= 1 - e^{-2t} - (e^{-t} - e^{-2t}) = 1 - e^{-t}$$

AND IMMEDIATELY

$$P_{10}(t) = 0 \quad P_{11}(t) = e^{-t} \quad \text{SO } P_{12}(t) = 1 - e^{-t}$$

$$P_{21}(t) = P_{20}(t) = 0 \quad P_{22}(t) = 1$$

$$\begin{aligned}
 3) & \mathbb{P}^c(X \text{ makes at least two jumps in } [0, t]) \\
 &= \sum_{j \neq l} \mathbb{P}^c(X \text{ makes at least two jumps in } [0, t] \cap \{X_{t_1} = j\}) \\
 &\leq \sum_{j \neq l} \mathbb{P}^c(X \text{ makes a jump to } j \text{ in time } [0, t]) \mathbb{P}^c(X \text{ makes a jump in } [0, t])
 \end{aligned}$$

$$\begin{aligned}
 \text{So } & \frac{\mathbb{P}^c(X \text{ makes at least two jumps in } [0, t])}{t} \\
 &\leq \sum_{j \neq l} \frac{\mathbb{P}^c(X \text{ makes a jump to } j \text{ in time } [0, t])}{t} \mathbb{P}^c(X \text{ makes a jump in } [0, t])
 \end{aligned}$$

$$\begin{aligned}
 \text{Now } & \frac{\mathbb{P}^c(X \text{ makes a jump in time } [0, t] \text{ to } j)}{t} \\
 &= \frac{(1 - e^{-\lambda t}) \pi_{j, j}}{t} \leq \frac{\lambda t \cdot \pi_{j, j}}{t} = \lambda_{j, j}
 \end{aligned}$$

$$\begin{aligned}
 \text{So } 0 &\leq \sum_{j \neq l} \frac{\mathbb{P}^c(X \text{ makes a jump to } j \text{ in } [0, t])}{t} \mathbb{P}^c(X \text{ makes a jump in } [0, t]) \\
 &\leq \sum_{j \neq l} \lambda_{j, j} \mathbb{P}^c(X \text{ makes a jump in } [0, t])
 \end{aligned}$$

$$\begin{aligned}
 \text{But } \sum \lambda_{j, j} &= \lambda < \infty \text{ and } \forall j, \mathbb{P}^c(X \text{ makes a jump in } [0, t]) \\
 &\rightarrow 0 \text{ as } t \rightarrow 0.
 \end{aligned}$$

So by bounded (or dominated) convergence

$$\frac{\mathbb{P}^c(X \text{ makes two jumps in } [0, t])}{t} \xrightarrow{t \rightarrow 0} 0$$

$$\text{that is } \mathbb{P}^c(X \text{ makes two jumps in } [0, t]) \text{ is } o(t)$$

4 (i) if $q_{c+1} = c+1$ and $q_c = 1$ $c_1 \leq 0$ $A \notin \{0, c+1\}$

means only possible jump from c is $(\text{fun}(c) > 0)$

$c+1$	wf	$\frac{c+1}{c+2}$
0	wb	$\frac{1}{c+2}$

As $\sum_{c=0}^{\infty} \frac{1}{c+2} = \infty$ we have by Borel-Cantelli on

probab calculation) that $\mathbb{P}^0(X \in \text{MASNO}(\text{MAS}_1)) = 1$

that is Dis Recurrent. (on the jump chain, so

~~By Theorem 2.7.1 (iii) starting from~~

so by irreducibility the sibs are recurrent for jump chain

so by Theorem 2.7.1 (iii) the probability of an explosion

∞ (independent of initial position)

(ii) The process is a pure birth process (so the jump chain

is finite) but the $\sum_{c=1}^{\infty} \mathbb{P}^0(c+1)$ is not known

so we start $c=1$.

As $\sum_{c=1}^{\infty} \frac{1}{c+1} < \infty$ (and Theorem 2.3.2)

The sum of all holding times (independent of initial

condition) is finite, that is w.p. 1 there is an explosion.

(iii) This case is like case (i) (but speedup)

The jump size at c has (known) from

$$c+2 \rightarrow (c+1)^2 = (c+1)^2 (c+1)$$

but the jump chain is still $\mathbb{P}^0 = 1$

$$\mathbb{P}^{c+1} = \frac{c+1}{c+2} \quad \mathbb{P}^{c+2} = \frac{c+1}{c+2}$$

so Theorem 2.7.1 (iii) still applies

so e.g. (A) in the above (there is no explosion)

5) Consider the jump chain $(Y_n)_{n \geq 0}$: $Y_n = X_{J_n}$.

We have $(Y_n)_{n \geq 0}$ is just the Markov chain on $\mathbb{N}$ with $P_{01} = 1$, $P_{i,i-1} = 1/2$, $P_{i,i+1} = 1/2$ $\forall i > 0$.

As such (see Ex 1.3.3 Page 15) $\forall$

$i \in \mathbb{Z} \setminus \{0\}$ the prob $P^i(H_0 < \infty) = (1/2)^{|i|} \leq 1/2$ for $i \neq 0$ and $\forall i$

$$P^i(T_i < \infty) = 1/2 \quad \forall i \neq 0 \quad (*)$$

So it follows ~~from~~ ^{jump} that 0 is transient and starting from 0 the chain must go to $\pm \infty$ w.p. 1 by symmetry

$$P^0(\lim Y_n = \infty) = 1/2 = P^0(\lim Y_n = -\infty)$$

By our construction, if $\lim Y_n = -\infty$ then

the holding times of $Y_0, Y_1, \dots, Y_n, \dots$

will contain infinitely many with $2Y_0 \leq t$ so

necessarily by conditional independence there can be no explosion in this case.

On the other hand for $i > 0$ $P_i = e^i$ which is

growing ∞ very quickly. I have $\forall i$ by (*) and the

strong

Markov property $E^0(H_0 < \infty) \leq 2$.

$$\text{So } E^0(\text{Time spent by } X_t \text{ in }]0, \infty[) \leq \sum_{i=1}^{\infty} 2 \cdot \frac{1}{e^i} < \infty$$

So a.s. Time spent by chain X_t in $]0, \infty[< \infty$

So if $\lim_{n \rightarrow \infty} Y_n = \infty$ then time spent in $] -\infty, 0[$ is also finite

and so time spent in $\mathbb{Z}$ is finite i.e. there is an explosion

5 CONTD. SO THE EVENT $\{ \text{there is an expression } i \text{ s.t. } Y_n = \infty \}$ is the same as the event $\{ \hat{Y}_n = \infty \}$

$$\text{So } P^0(\text{expression}) = 1/2.$$

if $Y_0 = 1$ we have

$$P^1(\text{expression}) = P^1(\text{expression} \cap \{T_0 < \infty\}) + P^1(\text{expression} \cap \{T_0 = \infty\}).$$

$$= P^1(T_0 < \infty)$$

$$+ P^1(T_0 = \infty)$$

$$= P^1(\text{expression} \cap \{T_0 < \infty\})$$

$$+ 1/2.$$

but the chain "measures at T_0 " so

$$\begin{aligned} P^1(\text{expression} \cap \{T_0 < \infty\}) &= P^1(T_0 < \infty) P^1(\text{expression} | T_0 < \infty) \\ &= 1/2 \cdot 1/2 \\ &= 1/4 \end{aligned}$$

$$\text{So } P^1(\text{expression}) = 3/4$$